| 2 T N SY-27

SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020

Part — III Time : 2’2 Hours
MATHEMATICS (SCIENCE) Cool-off time : 15 Minutes

Maximum : 80 Scores

General Instructions to Candidates :

fl3§080018, 0396883 ) 120} MIBC3006501353 :

~

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any six questions from 1 to 8. Each carry 3 scores. (6x3=18)

I. (1) LetR be arelation in the set IN of natural numbers given by R = {(a, b) : a=b —2}.

Choose the correct answer. €))
(A (2,3)eR (b) (3,8 R
(¢) (6,8) R (d (8,77eR

(i1)) Let * be a binary operation defined on the set Z of integers asa*b=a+b + 1.

Then find the identity element. 2)

2. (1) Write two non-zero matrices A and B for which AB = 0. a1

1
(i) Express A = L } as the sum of a symmetric matrix and a skew symmetric

matrix. 2)
1 a a’

3. Using properties of determinates, prove that |1 b b?| = (a—=b)(b—c)(c—a). A3)
1 ¢ ¢

4. (1) Which among the following is not true :
(a) A polynomial function is always continuous.
(b) A continuous function is always differentiable.
(c) A differentiable function is always continuous.

(d) logx is continuous for all x greater than zero. 1)

(i) Find %, if 22 +y2 + xy = 100. Q)

SY-27 2



1 2)®@8 8 60 ¢a13iFElad ago®mBlene 6 a)INOTIM POMOo  af)Fi®)db.

3 capod afloo. (6x3=18)

1. G3)

(ii)

(i)

af)IN@3 MLoaIBBIOS WMo N @3 Mg} lafldlemam @) snimwadsm R.

R={(a,b):a=b-2}. vodlI® DOV HDIOEETTNS)HNE>. (€3]
(a (2,3)eR (b) (3,8 R
(c) (6,8)eR (d 8,7 eR

aBENAVoEU BSOS VMRV Z @B * af)aN HHENUMA] B0a|COatBa * b=a +b +

1 agyam” afldQ)a 2 lAl0e)aM). * 603 Haf)waFIG] af)2IONAT H6NE) o lSlae)d. )

AB = 0 @oym allwoni@d A, B gl anmiacioom e aoSlgaud

af) ) )B>. @
1 -1 . .
A = {2 3} af)am 0(51(%16)07 80) mloaSlse otsﬂ&qg”lmgm);o Y oSl
20(El@le3W)o @DHWIW af) YYD )
1 a a’

3. afigddlmadi»@3)s ¢ 10a]8sl Dalc@oufla] (1 b b2 =(@-b)(b-—c)(c—a) af)On’

1 ¢ ¢

OS] H6)>. Q)

4. ()

21}019S a10@)MOIVIE3 VEIVWEPBDD GG ?

(@) 80} caldglcmol®ES aNoUIaUB af)Ga 090 GHENEIMYAITY GRS,
(b)  B0) HMEIMRAITY 0 NWHB af)Ga|0Plo WlaNOMBaHMIUB @RYEM.
(©) 80} WlanoaBaHNUB aDoIaHUm af)Ga o9l HMEIMPAITY @RYEM.

(d)  anNRCODINIUB HSIW af)LJ0 X HUBAPo log X HENEIMRAITY @RHYE. (4]

(i) x2+y?+xy= 100 Gry@ocd % OGN . Q)
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5. ()

(i1)
(iii)

(ii)

(i)

SY-27

Identify the following function.

(a) sinx (b) |sinx|
(c) sin|x| (d) cosx
Is the above function differentiable ? Why ?

Find derivative of y = +/tan x

The slope of the tangent to the curve y = ¢ at (0, 1) is
(@) 1 (b 2
() 0 (d -l

Find the equation of a line perpendicular to the above tangent (tangent obtained in

part (1)) and passing through (2, 3).

The general solution of a differential equation contains 3 arbitrary constants. Then

what is the order of the differential equation ?

(a) 2 (b) 3

(c) 0 d 1

Check whether y = e3* is a solution of the differential equation % + % —-6y=0.
4

0y

0y

0y

0y

2

0y

2



5. (1) anues o©MMICGNN  aloWaHM  aBO®AN  af)9)d. (afl@o @06

30S)ATNABlANAM)). @
(a) sinx (b) |sinx|
(c) sin|x| (d) cosx
(i) al@oDOL! afotaHMB WlaNOMBaHNIISIEANO ? af)aEIB:06NE ? 1)
(iii) y =+/tanx 613 dawclecaiglol &oem)s. 4))
6. (i) y=e*agam HBailed (0, 1) ol 6®05)010)0S ayOal (€3]
(a) 1 (b) 2
() 0 d -l

(i) 2BHE@ al0aTEENIN (o183 (i) @) H@OS)AUOW LIENIAOVD®)o (2, 3) ag)aM

n3)Ql@306)S] $HSANIEAINGH)IMN@AOW AIOWIOS VAR Yo HIGIM)d: ?2)

7. (1) 80} Wlan0WaHi@3 ALAAGIOIIONNE Oald®)alCla000O@3 3 @RyAmilsal

quilo  ALoAUIBHBIIMER®. oIS @R AUlaDOMWaHYG  AVAAIIDYOTTIOG

&30BAA ag)(@® ? (0]
(a) 2 (b) 3
(c) 0 (d 1

(i) y = e aganoy %+%—6y=0 oM AUWlan0MBaHI@3 VOIS, OBIH3
al@la00MICEMO af)aN alGlCUOUBN)®:. 2)
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8.  Consider the following figure :

(1) The equation of the plane PRQS is 1)
(@) y=0 (b y=2
(c) z=4 (d x=3

(i1) Find the equation of the plane through the intersection of the planes PRQS and
PSUT and the point (2, 1, 2). )

Answer any 8 questions from 9 to 18. Each carry 4 scores. 8x4=32)

9. Let A=R - {3} and B =R — {1}. Consider the function f : A — B defined by

x—=2
f(x) = .
W= "=
(1) Is fone-one and onto ? Justify your answer. ?2)
(i) Is it invertible ? Why ? @)
(i11) If invertible, find inverse of f(x). 1)
10. (i) Ifxy<l,tan!x+tanly= . (€3]
(a) tan’! ( i | ] (b) tan’! ( Xy j
I+ xy 1—xy
©) tan x + tan y ) tan x —tan y
I-tanx-tan y I+tanx-tan y

(ii) Solve tan”! 2x + tan”! 3x =

T
T A3)

SY-27 6



8.

10.

®96¢ @ANIElHNMN 2il(@o alBlNEHN)H:.

() PRQS ag)am ®LIG0I1603 Avaniodiadem 6}
(@ y=0 (b y=2
(c) z=4 (d x=3
(i) PRQS, PSUT ag)mil metemsladomsliop (2, 1, 2) agan enia3)all@d &)slopo
HSAN) CaldH)IMN GEICTHIOHAG TVAQID o BT 2)
9 2)®@3 18 Q100 ca1085BEles ago®Blene 8 afEaNOTIM P2OMOHAYL®) M.
4 capod allo. (8 x 4=232)
A=R-{3},B=R—{1}.f: A > B agamo f(x) = x—_i ag)an @B a flafladlasnyam;.
x f—
(1)  f(x) aiend-aiend, 6306n3S) @RHEEMI ? DTNV TVIWIBHGIBE). )
(i1)  f(x) enadeaidglenild @rycemo ? 1)
(iii) f(x) gnaBeaIBgNIUB GREOMEI@, f(x) HAF EHABEALY HOEM)H. 1)
(i) xy<1oeowoddtan ' x+tan ! y= )
(a) tan! ( 7y ] (b) tan! (ﬂj
I+ xy 1—xy
tan x + tan tan x — tan
() —nxriany (d —nxmhny
I-tanx-tan y I+tanx-tan y
(i) al@la00@o HOeMM : tan~! 2x + tan~! 3x = % 3)
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1. ()
(1)
12. ()
(i)
13. @)
(i1)
SY-27

Find dy if y =x* + xsinx,
dx

2

If y =x cos x, find d_;/
dx
fx) dx =log|tan x| +c. Then f(x) is
tan x
(a) cotx (b) sec’x
(c) cosec?x (d) cot?x

If @ = 4x3 —%; x # 0. Given that f(2) = 0. Find f(x).
X

Area bounded by the curve y = f(x), x-axis and the linesx =aand x =Db is

b b

@ [xay o [ya
b b

© [y @ [y

From the following figure, find the area of the region bounded by the curves

: : : T
y = sin x, y = cos x and x-axis as x varies from 0 to 5

(&)

4y

0y

(&)

4y

(&)



11. (1) y=x"+x"*g@road % SN &)

2

(i) y=x cos x @XId3 % 061N 1)
) f(x)
12. (1) dx =log|tan x | + c. @GRYWI@3 f(x) 1)
tan x
(a) cotx (b) sec’x
(c) cosec?x (d) cot?x
(ii) @ =453 —i4 ; X # 0 agyan @amigyeme” £(2) = 0 @ry@o@3 f(x)@06md:. 3)
X

13. (1) y = f(x) a0 @Balm)o, x @REHUOBIMP x = a, x = b af)@ AUEBBLS

DSWILSS al0a B80T 1))
b b

@ [ xdy o [y
b b

@ [*ay @ [ya

(i1) 8¢ OBHISITIAENAN 2l(@@HI@3 WM y = sin X, y = €OS X, X-GRAHHo

SDOIVSFNSVIENSS 100 |BOT BHEMENOBN)D:. X af)M@ 0 M) @3 g 160 200)aM). (3)

SY-27 9 P.T.O.



14. (i) Form the differential equation corresponding to the curve y = mx. 2)

. dy ' y_ 2
1) Solve —+==x". 2
(i1) 5 2

15. Find a unit vector perpendicular to the plane ABC where A, B, C are points (1, 1, 2),
(2,3,5) and (1, 5,5). )

16. The Cartesian equation of two lines are

x+1 y+1 z+1 x-3 y-5 z-7

= and =
7 -6 1 1 -2 1
(i)  Write the vector equations. 1)
(1) Find the shortest distance between these two lines. A3)

17. (i) If a plane intersects the co-ordinate axes at a, b, ¢ respectively, write the equation
of the plane. @

(i) Find the distance of the plane obtained in part (i) from the origin. (€3]

(i11)) Find the Vector and Cartesian equations of the plane passing through (1, 0, -2)
and normal to the plane is i +j — k. 2)

18. Given two independent events A and B such that P(A) = 0.3, P(B) = 0.6 find

(i) P(A andB) (1)
(1)) P(A and not B) 1)
(iii)) P(A or B) 6}
(iv) P(neither A nor B) 1)
Answer any 5 questions from 19 to 25. Each carry 6 scores. (5x6=30)
19. (i) LetA= [aij]2 « 3> Where aj; = i+j. Construct A. )
(i) Find AA'and hence prove that AA' is symmetric. )
(i11)) For any square matrix A, prove that A + A' is symmetric. ?2)

SY-27 10



14.

15.

16.

17.

18.

19.

(1) y=mxagam HBaNed WlaDOMBaH @3 TVAAIID S0 HIMND:. ?2)

(i) al@la00@o HOEM)D dy,y_ 2 2

X

A, B, C agarl enflm)eeud @wnowao (1, 1, 2), (2, 3, 5), (1, 5, 5) agarleanameosm.
ABC o) ®RIGTIM 2lotNINd® 30) @I ©01pA dene)a 1S10)d. )

Q6NB) QUUODHS)OS H0BGlaH 1B TVAQIIB> AT

x+1 y+1 z+1 x-3 y-5 z-7

b

7 -6 1 1 -2 1
(1)  DAIWAS HAIGA TLAAIIDIEEBUB af) ). (0]
(i) 0D ENE) QIOGUE ®2RE)NSB aBQAo IO B)0o HEM)D. 3)

(i) &) ®elb X, Y, Z af)al GRAUGDBOS WLNI@MN0 a, b, ¢ W@ aleMUWlHe)aM). DD
®LICTIOG TVAQID Yo af)P)D). 0))

(i) 1085 (1) @ gl Gelan. sdlElMl @aAENSS ()00 HEMENOBN)D. 6}

(1) (1, 0, =2) ag)am enil)ail@d @Sl HSAN) CalddH) M@} 6Moda@d 1 + j — k
@RO®AIW ®RIGTINNE »HVAGlHUB  AVAASYANe OAIGE VOIS0
BN (2)

A, B gnal oene’ gnadauileoniadawad envaiaqi:zoem . P(A) = 0.3, P(B) = 0.6 @Gr@ows
21)Q16S OAVIBlENIMAI H0EMB>.

(i) P(A and B) 1)
(1)) P(A and not B) 1)
(iii) P(A or B) 1)
(iv) P(neither A nor B) 1)

19 m)®@3 25 19SS 210363 a@E@EIENS 5 af)INATIM DOMOOALI®)d>.

6 capod allo. (5 x 6 =30)
i A= [aij]2 «3 = 11 ] @GR@O@3 A af)m DOESIBHAV af)9)®)d. ?2)
(i) AA'@0emm. AA' 30) NeaES]d 20SlGHoaemaN) H@SI 6. ?2)

(iii) oRO®O0) APIWA MElG A ©p, A + A' 80) MeaSls 20ESkgoesman)
OOV 995> 2)

SY-27 11 P.T.O.



20. (i)

(ii)

(iii)

21. (i)

(i1)
(iii)

If A is a skew symmetric matrix of order 3. Then prove that its determinant is

zero (Without using example). )
2+x 3 4
Given that | 1 —1 2| is a singular matrix. Find the value of x. )
X 1 5
Given A and B are square matrices of order 2 such that | A | = -1, | B | = 3.
Find | 3AB | ?2)

Find the intervals in which the function f(x) = x2 + 2x — 5 strictly increasing or
decreasing. ?2)

Find the equation of tangent and normal for the curve y = x3 at (1, 1). ?2)
Find local maximum and local minimum if any for the function

h(x)=sinx+cosx,0<x<g. )

22. Integrate :

(1)

(i)

(iii)

23. ()

(ii)

(iii)

SY-27

F dx
S @
T+
[ X
—_— ()
J(x-1D)(x-2)
%.
x cos x dx 2)
0
Ifa, b, ¢ are three coplanar vectors, then [abc]is
(@) 1 (b)) 0
(c) -1 (d) not defined 6}
If|a|=2,|b|=23and 0 is the angle between a and b. Then maximum value of
a - b occurs when 0 =
T
a) — b
(a) 5 (b) =
T
(c) 0 d — (0))
4
Ifb=2i+j—k ¢=1i+3kand a is a unit vector. Find the maximum value of
Scalar triple product [ab ¢]. “)

12



20. (i)
(i1)
(iii)

21. @)
(1)

(iii)

3 x 3 80dawoss 60} apyumileasle; aElgoem A. A @es aslgdalmag’ aflel

al)RN06MAM OISV EN)M. (DB3I20MMo DalCWIUTBNOD) 2)
2+x 3 4
1 =1 2] 80yaflon)eid aoSlgem. x 63 aflel &:06m)d. ?2)
X 1 5
A, B 806wa 2 988 0D 20Sl@giasoem. 9:)s00® | A | =-1, | B | = 3 aro@ows
| 3AB | @06mM). ?2)

() = x% + 2x — 5 ag)IM aNoWaud @dlageil ad@lavlow, (ilagel all@lailowy
@YD) HABABOAULNBUB BHENB.) o 15196 2)
y =x} agam @dallad’ (1, 1)oel omos)aio)es@)e ecmodariled@le MLAQE o
OGN, 2)

h(x) = sin x + cos x, 0 < x < goc@ GLIDHNDI o(@"lo, ce1060@3 alalac enal

D6NREIT3 BHeNB)a f1S1H6)0. ?2)

22, DWEUNG 1Y

(i)

(ii)

(iii)

23. (i)

(ii)

(iii)

SY-27

[, @
T+

[ X 4 2
Jex-1D)(x-2) @
[ x cos x dx (2)
0

a, b, € g0l 2)aM €B0EaJMOAB OGBS0 OE3 [a b ¢].

(@ 1 (b 0

(c) -1 (d) aIdqaileeoad »¥ldile). 1)
|a|=2,]b|=3,3a bmauglsulenss es0mosm 6. a - b @es aloaoaidw] allel
e1dlemnam 0 wes ailel

(a) g ®) x
T
(c) 0 (d 1 Q)]

b=2i+j-k ¢c=i+ 3k a oo 80} @G aalp0osm. capend Slaflud
GO [abc] WS alo20aIU] Ailel &HaMENHN ). )

13 P.T.O.



24. Solve the linear programming problem graphically.

Max :

Subject to :

25. The probability distribution of a random variable X is given in the following table :

Z=3x+2y
x+2y<10
3x+y<15
x>0,y>0

X |0 |1 ]2]3]4
PX) | 01| k |2k | 2k | k
(i) Find k.

(i) Find the probability that X lies between 1 and 4.

(ii1)) Find mean of X.

(iv) Find variance of X.

SY-27

14

()

(0))
0y
2
()



24. anaes @mildlesm ellmled calowoalow Caloenlo (P2aN)n16@IUla al@la00®o

B3I61MN).
Max : Z=3x+2y
Subjectto: x+2y<10
3x+y<15
x>20,y=>20 (6)

25. X agan 00w  caidlomiglond  caoemimilelgl  asladlnieuad  anales

RERISIQICI )

X 0 1 2 3 4

PX) | 01| k |2k | 2k | k

(1)  koes allel @0ems. 1)
(i) X ag)am 00mave caIdlMilUd 1 Mo 4 Mo HSWOBIMBR TVOW YD BTN @
(iii) X &8 vodvodl (Ad) HoeM . ?2)
(iv) X6 caIdlamary &oem)d. ?2)

SY-27 15
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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020

Part — 111 Time : 2 Hours
HOME SCIENCE Cool-off time : 15 Minutes

Maximum : 60 Scores

General Instructions to Candidates :

f13§038001dr V396133 ) 120))MIBCFU0508BU3

\

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

M3dlay MW2GTM a)0en 15 2AlMlg" ‘@)1 8000 ©6Se” DeMeo@lan)o.

‘@B Boah 9SO’ GaldBYEIBUWE  al@lalWea|SOM) DTMHOBUB  GRYAVYEMo

£121QJOM)o DalCWOUIHBNB>.
DOTHOGIBUD af)$IANGIM DN €2 103§68U3 YPELIANBYJo AWBHEMo.
WIBEGZU6BU3 MLINIM)o UIHBLIANABQJo AIOWBeEMo.

BEMNAS H)GLNDHUB, al(@BUB, (N2aO)BHUB, agf)avial QCZSTZ))(O@QJ(H(ﬂGSa ©®eaM

DMNROVIBlEOMo.

G2 1066803 ALIWOgOTIel Mmelwigae. /
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PART - A
Answer all questions from 1 to 9.

1.  The process of adding micro organisms to the food to bring desirable physical and

chemical changes is called
(a) Combination (b) Fortification

(c) Fermentation (d) Germination 1)

2. RDA value for calcium during pregnancy period is
(a) 600 mg/day (b) 800 mg/day
(c) 1000 mg/day (d) 1200 mg/day 1)

3. Find out the method in which the food is frozen and the water from the food is

removed under vacuum.
(a) Freeze drying (b) Freezing
(c) Refrigeration (d) Cellar Storage 1

4.  Pick the incorrect statement.
(a) Block printing is the latest method of printing design on fabric.
(b) Roller printing is a machine counter part of block printing.
(c)  Screen printing can be used for the production of larger patterns.

(d) Digital printing has various advantages over traditional printing. 1)

5. 0Odd one out :
(a) Boiling (b) Simmering
(c) Steaming (d) Stewing 1)

6.  Find out the name of the following process from the list given below :
(a) To remove wrinkles :
(b) Burning the surface of the fabric :
(c) Improve whiteness :
(Singeing, De-sizing, Bleaching, Stiffening) A3
SY-28 2



PART - A
1 2)®@3 9 A1OOWBH af)L10 G103 EBUIEN)0 DOMOo af) P}®)db.

. AUIMOTICEIN  ALIBAHREMBNUD  HSOMI  v00AlAldANe  BOAVAIEQNIW
2OQEBUB DENBISFTNOWS)HNMM (2 I(HWEO® ANS1HH)AM Cal@IEM’

(a) esmImilecmanad (b) Gano@gladlcasauad

() ©andacadauad (d) =Adalemauad 1)
2. »deoaimnel@d Gocsavyomled RDA mely @Y6.

(a) (I@3Elmo 600 al. (o (b)  (@IElmo 800 all. (120

(©) (umdlmo 1000 ail. (oo (d)  (@@IElmoe 1200 al.(oo 1)

3. eaMemo m0allaj®le GRGIG MIMSS 6AISse AN Afldso 6)21QIM@)AIW
Al aBO@AN BHEOENRTII ).

(a) (Edlavaewlewy (b)  @AlJowy

() &0EAReE0H3 (d) eavelod avegocos §))

4. O®Q® EINEIAIM GO HETNS)HON)D>

(@) oeMlaglad uleoamamd @RalsSlenmm agQale ah@lw dGloem emIods
(aflaglowy

(b) M99 (@ NloBloulnng 630} ©R6HIMB al@ilaloem 0088 (allaglouy.
() el anegemiaains Mldamoem@IMO] aU@las (@ ladlot) Dalcoullando.

(d)  a10MIEdN® @Eladleullcmanoud alleflged (agloullm allallw wememdd ome. (1)

5. Q@m0 Q®) GHEENEOIE)E:

(a) cenioweilen’ (b) avlomdlen”
(c) auglaless’ (d) augyilowy 4))

6. anoleswas eladled dlan @IeY el EIGHIQBSBIOS Cald HETMEOMD :
(@) anslaneud asleas :
(b)  ©®ETITHOIBBNS DalBl@EIo SHATINBND3 :
(©)  ©aIg)|3SGOWS)HHT3 :
(niladedlen, all-oaavmilen, milafles, avdlanailes) k)]

SY-28 3 P.T.O.



10.

11.

12.

13.

14.

15.

16.

17.

18.

If temperature below 100 °C : Pasteurisation.

Temperature above 100 °C : . (1)
Complete the table :

Category of motion | Name of motion | Parts Employed

€} I Harness frame
Primary motion Picking Shuttle
Beating (o) T ?2)
Fill out :
LIPIDS
@ ...oo.... Compound Lipid (o) I ?2)
PART -B

Answer any 7 questions from 10 to 18. Each carries 2 scores. (7x2=14)

Explain ‘Low residue’ diet.

Compare plain weave and twill weave.
List the advantages of pressure cooking.
Describe Parchmentization.

Write short note on :
(a) Braided fabrics
(b)  Stitch bonded fabrics

Explain Kinesics.

List the reasons for food preservation.

What are the points that should be kept in mind while planning meals for a diarrhoea
patient ?

Differentiate between monofilament fibres and multifilament fibres.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

100 °C m': ®069@)88 @®0alMIEl : aldTValne0cIVaHd

af)@l@3 100 °C 2)a8lenss @moalailel : . 1)
alSld )BT WL
alelim aileowo 211NN Gald | DalcWIUIla] @INEBUD
@ .cc....... a00@eMaV O NWlo
(@100 alBIMo aflosler’ oS3

enfldler’ () TR 2)

al)@laflead :
ODH9)a )HUB
@.......... c0mIvene eflaflad () T ?2)
PART -B

10 2)®@3 18 016088 6a1034m81G3 ago®meslel)o 7 ag)%m1m'g)mm6)w;@;@.
2 ¢apod afl@o. (7x2=14)

‘ee1n eoadlany wq’ allvodle:dlee)w.

ogJllad allal’ (Plain weave) silad aflai' (Twill weave) ®00®a o 0219}
(a1aHB D)aN6OE1OHZ NIEMEIBUB A ISlDHE|SITTH)D.

a1002[026603 VU AfloIClee)D.

elnenailalosmoe @QO0IBMNE: :
(a) esENIWW @EMICNOBUB
(b)  auglaj eenieBanaw’ @EMICIHEEIBUY

06BN B0V-ailvodld0lee)d:.
BHHY MVoMVHOTMATNOG HIOFMEBUD alGlDHea|S)O)D.

AOAISEOMBs  (WEAIW)  GEIUIlBH EBBMEMo  BRHAVY@EMo 612 lQYIEAUIUB
UIRUICADME HOOYEINBUD af)DIDL00?

¢20EEMI adlelaad moo)dale audsladlelnnend MI0)dg) @ailad CaIBGIGlHe)d:.
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

PART -C

Answer any 7 questions from 19 to 27. Each carries 3 scores.

Describe disaccharides.

Evaluate any three causes of food spoilage.

Explain different stages of dyeing. (Any Three)

Differentiate between formal education and extension education.

Summarize different natural fibres.

There are three important aspects of yarn twist. Explain

Describe the elements of communication. (Any Three)

Explain the classification of food based on their function.

Analyse any three principles of meal planning.

PART -D

Answer any 2 questions from 28 to 30. Each carries 6 scores.

(7x3=21)

2 x6=12)

Evaluate the functions of Vitamin A and explain any three Vitamin A deficiency

diseases.

Compare the physical properties of cotton and silk.

Explain any six fancy weaves.
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20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

PART -C
19 a)®@3 27 A190W)BS 2103 33S103 ago®m@lenoe 7 af)anOTIM 2QOMOOAY®)d>.
3 capod aflo. (7x3=21)

HAWAVILNNONOWIBHUB QIAIBIEN .

BAHEMo EHSOBHOIMIBB HOMEBSEI BB aBO@ESIL1)0 MOANEMNo af) QYD)
oawouland allallw ceigenud allvdle:dlees. (agomeslell 3 ag)emo)
€a00@2@3 QllB1EPIVAL0 af)BHTVYMBaHT il3je PV ®oilE3 CIGGIGClN)M:.
QU@ ITV® (Al BO MU (Natural fibres) MVoadle9)B>.

mei anglosiaeeilm’ (yarn twist) 3 alvoendd gsme. ailuodlaeloe)s.

@YU oﬂcrﬂ@moﬂemg 2p1S@6BU3 QlAIBIENG. (aBO®EsILl)0 3 og)egggo)

BAUAMOCD  @RAIVOS WAAGIOM  @RSITLOIMEAEE ARG 2 [ldleemM@Y
aflvodledlee)d.

AU @RHAVY@eMOIOE (meal planning) ago®eslene 3 ®@IEBUE Allvdd:eIMo
012 1Q))>.

PART -D
28 2)®@3 30 2160W)BS ¢ 103G aBO®EILN0 2 af)FNOTIMN DODOONY) D).
6 capoad ail@o. 2x6=12)

algodld A @es wdmenud alleido)Emd@)e  GRAIMIOS &;HOAT MIME
DENBIB)AN aGOMEHIEN0 3 G0WN6RU3 AllVdElBB1B6)DHW]o 6121k

al®)oll  (cotton)@es®le MBSO @YD  qLaleuoat®»ud  (physical
properties) @OOMA Yo 1.

age@®®rlele 6 andadayl aflaneud alluodledles)d.
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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020

Part — 111 Time : 2 Hours
GEOLOGY Cool-off time : 15 Minutes

Maximum : 60 Scores

/ General Instructions to Candidates : \

f3§0300k8, 0396883 ) 120} MIBCFI0501353 :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

/
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®  @AIUDIMBS TLOLIDTH TVAAUIBYEIBUD OBHISIBNEMo.
® CEIDWIMBUB  ©21QOMIBHOTD  HOTIANCLIGO)DHB  B¥10HWBB B0}
K EDEIDHE(SIMD Daldh0sMAl)o alBld:0a00S 63 DalCWOWIHNQIIM aldSI).
SY-29 1 P.T.O.



SECTION -1
Answer all questions from 1 to 6. Each carries 1 score. 6x1=6)
1. Which one of the following is an example of artificial resources ?

(Coal, Biogas, Natural gas, Sunlight)

2. Choose the sedimentary rock from the following :

(Granite, Basalt, Charnockite, Conglomerate)

3. Pick out the mafic igneous rock from the list given below :

(Granite, Pegmatite, Rhyolite, Basalt)

4.  Select the factor from the following that does not induce salt water intrusion in coastal

areas.

(1) Heavy rainfall

(i)  Over exploitation of ground water
(i11)) Reduction in recharge of the aquifer

(iv) Rise in sea level

5. An example of placer mineral deposits found in beach sands of Kerala.

(Bauxite, [lmenite, China clay, Lime shell)

6.  Who propounded the elastic rebound theory explaining the causes of earthquakes ?
(i)  Charles F. Richter
(i) H.H.Reid
(ii1) Nicolas Steno

(iv) James Hutton

SY-29 2



SECTION -1
1 2)®@3 6 AOOWBR af)£10 GalIBIEIBURBEN)0 OO af)F)®). 1 GaVIAB afloo :
6x1=6)
. ©06¢ 62:05)HIHBBAUDI@B DHy(@I2 All8QIBBUIGS DBIAOBEMAIVD) ARG ?

(BN, NICRONRAV, (AIDBIAUID D0, MVIOY(IBIUD0)

2. ®08¢ 6305058501003 aIlam)e @RAITVIBUTIEI HBVHETINSIODTNID)D:. :

(OOMQ, MINVIUBS, 2I10BEMOONNY, HEMELIOACOQ)

3. ana1es 6305)elEleea ellguled alanie aoadle; GRUEMWUTIE! af)SIOTDOID)D :

(29OMQ, O INAOOYQ, OCWINHEIY, NITVIUBS)

4. omiggsadad dlamp  dloelcsueangl@d 9o 001880 HROYINGIM

B3I0EMAIBIBID LISHH0 Af)S)OTNOIEI)D.
(1) VeV Oy

(i)  EudezrIoDiOng @RAI® aljaHeMo
(iii) @RB®10a0A8 Slalndeflouilond eoarl

(iv) auayE Re1dfloa] 2Wom3

5. coog Olooom asmeldd @0emea|Sian Galdud@ WO®) TCAUIBBUINS 630}

9Ba006IMo

(CNDHHOOMVY, HTANOMQ, OO IMICE, HORIo HAH@I)

6. EOMIEBFES NH0eMeneg alludlacleman gmenaugls dlnimme  amilewoamo
@RYIEM MEANIT AU ?
(i)  210BAV af)an. AldSA
(i)  ag)aj.ag)al. Slow’
(iii)  aflee9s0aV OHAVEMI

(iv) o=V a0S6MM
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10.

11.

12.

13.

14.

15.

16.

SECTION -11

Answer any 7 questions from 7 to 16. Each carries 2 scores. (7Tx2=14)

Mention any two environmental aspects related with the consumption of fossil fuels.

List out any two sources that pollute ground water.

How does relative dating differ from absolute dating ?

What are the significance of fossils in stratigraphy ?

State and explain the principle of cross cutting relationship.

IMustrate the difference between anticline and syncline with the help of diagrams.

Draw a diagram showing the concept of rock cycle.

Name any two textures that may be present in igneous rocks.

What is the difference between dyke and sill ?

Give your ideas on the migration of petroleum from the source rock to the reservoir

rock.
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SECTION -11
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SECTION - 111

Answer any 8 questions from 17 to 27. Each carries 3 scores. 8x3=24)

17. Do you think that fossilisation is a rare process ? Justify your answer giving the

conditions favouring fossilisation.

18. Fill in the blanks :

(a) waves travel along the surface of the earth during an earthquake.
(b) are the fastest among the seismic waves.
(c) waves do not travel through liquids.

19. How can we achieve the concept of sustainable development ? Discuss giving special

reference to water, energy resources and waste disposal.

20. Give examples to the following : (one example each)
(a) Non-clastic sedimentary rocks
(b)  Plutonic rocks

(c) Foliated metamorphic rocks

21. Match the column A with B and C :

A B C
Gypsum | Residual deposit Manufacturing of pencils
Graphite | Evaporite deposits Extraction of Aluminium

Bauxite Metamorphic deposit | Plaster of Paris
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SECTION - 1II
17 2)®@3 27 Q100088 ¢a10338SE108 ago@m@leno 8 af)eNO@a OO af) F)®)d>.
3 campod all@o. (8 x3=24)
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22.

23.

24.

25.

26.

27.

(a) What is meant by magnitude of an earthquake ?

(b)  Which scale is used to denote earthquake magnitude ?

(c) How is the intensity of an earthquake determined ?

Explain the various phases of disaster management cycle.

How does the distribution of earthquakes correlate with plate boundaries ?

Define the following terms :

(a) Strike

(b) Dip direction

(¢) Truedip

What is an unconformity ? Briefly explain any two types of unconformities.

Complete the given table :

Geological Disaster / | Mitigation measures Description

Hazards

Floods (a) Raised  banks  along

stream channels

Coastal erosion Break waters (b)
(©) Early warning Messages given informing
danger
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22.

23.

24.

25.

26.

27.

(a)  80) )BMICIINE 2NTIQIA af)INE) HBHIENE GRAMNAISNANO@ NI ?

(b) WM 20VMIGIAW TV la lae)01008 DalE@IUIIENIAN MVODHVIES B® ?

(©)  80)e@mioleng dflni® (emadailg) Mdanailanamememamwosm ?
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SECTION -1V
Answer any 4 questions from 28 to 32. Each carries 4 scores. 4x4=16)

28. List out the four types of coal and their characteristics.

29. Describe the processes of formation of mineral deposits given below :
(a) disseminated diamond deposits

(b) segregated chromite deposits

30. Evaluate the environmental impacts of quarrying and mining on lithosphere and

hydrosphere.

31. Mention the causes and mitigation measures of landslides.

32. Explain the terms given below related with disaster management :
(a) Disaster
(b) Risk
(¢) Vulnerability

(d) Capacity
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SECTION -1V
28 2)®@3 32 A19OW)BS ¢a103BFIMB aflo® L0 4 af) INOTIM OO0 af)$)®)d>.
4 capod afloo. (4x4=16)
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SY-29 11



SY-29

12



S
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Part — 111 Time : 2 Hours
COMPUTER SCIENCE Cool-off time : 15 Minutes
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a

eneral Instructions to Candidates :

f3§0300k8, 0396883 ) 120} MIBCFI0501353 :

\

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 5 questions from 1 to 6. Each carries 1 score. Bx1=5)

1. Ininheritance the existing class is called

2.  The operator is used to allocate memory location during run time

(execution).

3. Write an empty tag used in HTML.

4. Which attribute of <input> tag is used to make different kinds of controls like Text box,

Radio button, Submit button etc. ?

5.  The IP address of a webserver connected to a domain name is stored in

6. Expand ICT.

Answer any 9 questions from 7 to 18. Each carries 2 scores. 9x2=18)

7.  What is a pointer variable in C++ ? Write the syntax or example to declare a pointer

variable.

8. Write any two differences in static and dynamic memory allocation.

9.  Write any two advantages of using object oriented programming language. (OOP)

10. Write the algorithm to add an item in to a queue which is not empty ?

SY-30 2



10.

1 2)@@8 6 100 ca108yBEIal oBE®BEe 5 afINOTIM DOVOHA)®)M.
1 capod all@o. Bx1=5)
eD1Ba00lgadail@d ailelallenss goavlem ag)am aflglesnamn.

06 (af)®>TBDPeHm) TLAED 6acacl auoel dlagloigan@im (allocation)

830ae0QA0 Do ICIUlER)aM).
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OSHTY EeNIoG, colc®o enigend, avenialg miged eyserle allallw ®oowlenss
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alcIUTlBNM@ ?
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@Y @3 aVYHENIN).

ICT @6 and@emo)alo af)93®.

7 2)®@8 18 190 ¢a13ymSEad aBe®BilEle 9 afANATIM  DOMOOAYI®)D>.
2 cnpod afloo. 9x2=18)
C+Hm8 &0) canI@d caldlemilid o))@oem ? 80) GaldImME colclemilyd
(leuPaflomm@ilm’  (declare) GQIME ©BIAOOMERD QIOGICLISME®D  (syntax)

af) 91O,

auogles, ©OWMOAD af)aTil HANG BRELIICHNHUMHUD @ALNES aBO®BILI)0

Q6NE QU LOAVEIBUB ) 9)B>.
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af)9)®).
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11. Briefly explain about webserver.

12.  Write JavaScript statements to create a number and string variables.

13. Briefly explain about any two built-in functions available in JavaScript.

14. List any four advantages of DBMS.

15. Distinguish between the terms degree and cardinality used in RDBMS.

16. Differentiate echo and print used in PHP.

17.  Write short note about any two applications of computational intelligence.

18. Name the types of interactions in e-Governance.

Answer any 9 questions from 19 to 30. Each carries 3 scores. 9 x3=27)

19. Describe about any three e-Learning tools.

20. What is cloud computing ? Write any two services offered by cloud.
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12.

13.

14.

15.

16.

17.

18.

19.

20.
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RDBMS @8 @alcouilanam adl@dl, sodaslmoeilgl agaril alzemges alyepave
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21. Differentiate indexed and associative arrays in PHP.

22. Write short note about numeric and string data types of SQL.

23. What are the different control structures used in JavaScript ? Explain any one with an

example.

24. Consider the following relations :

Arts relation :

Adm no. | Name | Batch

3001 Manju Al

3009 Cristy Cl

4010 Fazil B1

3090 Arun K2

Sports relation :

Adm no. | Name | Batch

4015 | Arjun | BI

4010 Fazil B1

3005 Fathima C2

Find the result of following relational algebra operation.
(a) Arts N Sports
(b) Arts U Sports
(¢) Sports — Arts

SY-30 6



21.

22.

23.

24.

PHP ol  gmdangaw, @rervomileoglal o)adl  @reosd  oollenss

Q@ PAVEBUD af) P9I,

SQL eer @ylems; muadla agarl awogo @osmes (data types) @)0laf e1een @)dlaf

QOO ).

20010 (Maigled Dalc@IUAlENIN »HMBESIUD (RH2I0)DHUB ROGIOSHWIEM P

ABOOB]LI BOOTNHOD GH)0la] DBIAOEM MVadl®o ANAIGIE)H>.

21JQI6S OIS)AABIHNAN NINWEBUB alGBINEMIHN)D: :

Arts relation :

Adm no. | Name | Batch
3001 Manju Al
3009 Cristy Cl
4010 Fazil Bl
3090 Arun K2

Sports relation :

Admno. | Name | Batch
4015 Arjun Bl
4010 Fazil Bl
3005 Fathima | C2

@06  OBHIS)OWNANENAN  GlGEIaHIM@3  @R)yUdEE] (61!

B6N8)a 1Sl

(a) Arts N Sports

(b) Arts U Sports

(¢) Sports — Arts
SY-30
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25.

26.

27.

28.

29.

30.

31.

Explain about various types of web hosting.

Write the HTML code to create a web page which includes, the following table.

No. of Student
XI 140
Boys
XII 60
XI 75
Girls
XII 125

Differentiate static and dynamic web pages.

Explain about the operations performed on stack data structure.

What is polymorphism ? Write short notes about the types of polymorphism.

Define structure. Write any two differences between structure and array.

Answer any 2 questions from 31 to 33. Each carries 5 scores. 2x5=

(a) The tag identifies the document as an HTML document.
(b) Briefly explain about any two attributes of <BODY> tag.
(c) Write the use of any four tags given below.

<B>, <U>, <SUB>, <PRE>, <IMG>, <BR>.

SY-30 8
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25.  ealmi catomvglelon allaflw ®mosses @)dlaf allaiclee)s.

26. ©20% OBHIS)OHCINM  alGld DBOISIAM el Galx  dIl@nlee)010ad

@00y HTML @300 ag)9)m)d>.

No. of Student
XI 140
Boys
XII 60
XI 75
Girls
XII 125

27, avgodle, ©0wmIales af)arl HOIMI CalER)dud @ZlLNSS QlYMOTVEBUD af)$)®)d.

28. avgoae (stack) awogd  (MRMaICIE8  MSEDOARAM  (IAIRTIOMEBOS  B)0la]
aflaidlaa)s.

29.  caloglemodadlvo af)MMI@ o) ? Galogleaodadlavomlond aflollw @osases
D)Ola] e1eel) $)0laf af) 9D .

30. (@218 MRAI2 199, (RH21B, BREO af)aTlal @AILNSS QY@ PAVEBUD af)$ )b

31 2)®@8 33 Q100 2Bl aBE®BIENe 2 af)IROTIM DOMOOAYL®)D>.

5 capod afloo. 2 x5=10)
3. (a) &) cawowseaad HTML ewose) eantnow] @ilalaclamalm’ Souy
DalCWIUIlHN)M). €))

(b) <BODY> soufloqd ago@®len. o @rSlnigides &)ola] elee)anal
allaicloe)d. )

(c) <B>,<U>, <SUB>, <PRE>, <IMG>, <BR> ?2)
o)l SOUBEIB aBO® L1 MOLIGNGIN DalEROWO af) VYD)
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32. (a)
(b)
(c)

33. (a)
(b)

SY-30

What are the different kinds of lists available in HTML ? Briefly explain about
the tags used for each kind. A3)

Differentiate the following HTML code fragment :
<A Href = “http :// www.dbsc kerala.gov.in”> Higher secondary <1A> 1)

<A Href = Mailto : “scertkerala.gov.in”> SCERT <1A>

Write any one attribute of <FRAMESET> tag. 1)
Briefly explain about any two column constraints used in SQL. 2)
Describe about any two DML commands of SQL. 3)

10



32. (a)

(b)

(c)
33. (a)

(b)
SY-30

HTML eel allolw @oo ellgued «go®oeds ? 80600 ®OX3IMp calanel

9a16oUflee)mM HTML s010)3686,)0l] £10£1)01000 aflaiclee)d. A3)

@269 6350l HTML o000 vodelendd @anilensss alymioauo

af) 9y,
<A Href = “http :// www.dbsc kerala.gov.in”> Higher secondary <1 A> 1)
<A Href = Mailto : “scertkerala.gov.in”> SCERT <1A>

<FRAMESET> souflo aBo@®]lel)o 60) @y (SInIyS af)$))d. @

SQL @ 2a1c@oUlldn)am aRO@SBILI QME CHIBo HMBMRVIRDHeO8 )Gl

21008 Qilaiclee)s. 2)

SQL eel ago@®leno osme’ DML &000)3:08 &)dlaf allaidlae)s. A3)
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Answer all questions from 1 to 10. Each carries 1 Score. (10x1=10)
1.  What is the output voltage of the regulated IC 7806 ?

(a) 5V (b) oV

(c) 7V (d 8V

2. What is the gain of a voltage follower amplifier ?
(@) 1 (b) 2
() 3 (d 4
3. Which circuit need memory to store the post outputs ?
(a) Multiplexer (b) De-multiplexer
(¢) Sequential circuits (d) Combinational circuits
4.  The main block of a super heterodyne radio receiver is
(a) local oscillator (b) demodulator
(c) AF amplifier (d) mixer
5. The process of sample values can be round-off to a predetermined values is known as
(a) multiplexing (b) de-multiplexing
(¢) quantization (d) sampling
6.  The spreading of pulses in an optical fiber is

7. What type of colour mixing is used in colour T.V. ?

8.  In a computer which memory is a very high speed semiconductor memory which can
speed up CPU ?

9. Which protocol employs a method for copying files over a network from one computer
to another ?

10. The large cells in a cellular system that are usually used for remote area is known as

SY-31 2



10.

1 m®@3 10 2160 ag)L1o Ga 103 5IBUBEN)o DAMOSAL)M)dh. 1 MVEHH@ afl@o.

(10 x 1 = 10)
830 7806 HOUELIQAL ©af)TVIWOS BDFa )5 CAIVWBESER af)(@QIEM ?

(a) 5V (b) 6V

(c) 7V (d 8V

80) CQIOUBESER CaNIEBO0IA @RYog laDWOlHAE HUWB ag)(@@IET) ?

(@) 1 (b) 2
(c) 3 (d 4

HFEON)CEAIOW BVGaNG)HUD AV)GHIf) AIPIAIOMIV] aB®) VBB YSIMIEM HAEO]
@YUV MBBD.

(a) 2Udglalepd (b)  Slaudslalead

(c) VUl aBat §@3 TLBBNSBHUD (d)  e®»oallegmMatreN@d LA YS)B>UB

80 M)a]36n0gE0IaOHALMS coullcwo dladlaldlae aggalo (IWIMea|S EINAJEM.
(a) cre®d somilerigd (b)  aleaoaeeigd

(€)  af)-af)al. Aogflan@@ (d) ollgad

momiig)des M@BH)Gl Olo@omla] 60} MEIGCTICRIY 0DENE-60a0  6alQan
(1QAIBBMo af) W] @RAIWe|S)AM) ?

(@) @uBGlaldplouy’ (b)  Afladdslglaadlouy

(¢)  SIOMWOOAWEIVAHD (d)  avoogflowy

830} Baiglaedd ©eanmMIGIR @Sl AVENIBBN)AM alBAV)BHUWB AlldISlBN)M (@l
@M

830} H8A SIS nF®) GOOIL)NSH HBA 2o DalcOUTlEn)M® ?

80} HoalR5FlOLl aR®) HANGIWIHM QIO CAINMEVWAIV®)o, MVl.all.@). alloal
CAUNO® )F008 M0V B9)BHW)o O21QYAND® ?

80} HoalgAl@d MM 2OQID) BoalYSAIERINS HMQAIRLH MEAIM aDWLIHUD
(SOMBMVANAB §)21QAND) aB®) C(@I0CFOCHUB DalCOUTla |06,

80) eave)end milguadilenl (A (A IEBUOTIT DalcOUllaaaN aleila]jeadlw
OAVENDHUB af) MOV BRAIVHA|S)AM).
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Answer any 6 questions from 11 to 18. Each carries 2 Scores. 6x2=12)

11. Draw the circuit diagram of low-pass filter using passive components and explain its

working.

12. In communication system, what is the need for modulation.

13. Draw the block diagram of transmitter section and receiver section of a basic

communication system.

14. What are the two types of ground wave communication methods in radio wave

propagation ?

15. State sampling theorem and explain with an example.

16. Write any four input devices in a computer.

17. Write any two advantages of computer networking.

18. Draw the block diagram of time division multiplexing (TDM) and explain its working.

Answer any 6 questions from 19 to 26. Each carries 3 Scores. (6x3=18)

19. A shift register is a clocked sequential circuit which can store a binary word.
(1)  What are the four different types of shift registers ? 1)

(1)) Draw the circuit diagram of serial-in serial-out shift register. 2)

20. Draw the block diagram of basic optical fiber communication and explain each block.

SY-31 4



I11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

11 2a)@@3 18 190 ¢a103yBEla8 ago@®rlene 6 afaNOTIM 2CMOOA)®)d:.
2 capod aflos. (6x2=12)

aldQUlal HEMIEMAYHUB DalEIUIlaf B0} GRI0aIOMV afl@QAled MLAAPG W U0
QUORBHWV}o BIDGINN (1 1QIBGMMo ANAIGINBHW)o OalQ))d.

830} H2ANIMIEHHUB TIQUATIGE CROAIECLIHONG BIRYAIUD D af) TNOE.

80) @RSIVNOMm  GHMREMICHNHB  milauaileel (SomaVAIQE  COVEBIHZW)o
dlailaid oETIOR®)o EENIIGH AWD(Uo AIOWD.

80) GoWIE@I CAIAl HEINA|EVHUTIT (VM CAIal HIMYETICHNUNTG  O6NE)
QY@M SIS HUB aBODIOBHWIEM.

Moo fleo’ @00 (aIqROaland. B0} DBIOOEM  dTVLaOI®o  BRGIOMENOa]
aflvodlo@la)d.

80} Hoal{)5010M8 aBO@BIE1)o MILT EHMBa )G WIHOHATVIBHUD af)9)®)D.
80} Hoalf)58 HMQAIASHNEHEONNE aBO@BILI) OME MO D)o af) ).

66So awlaflauad mcﬁgWM’low”lmg G%Oo@@v WOWo QlOa] (GTO(ZSﬂG)(’@ (1QIBDMo
aflvodlo@le)d.

19 2a)@@8 26 Q160 ¢a103yBEIA8 a@o@®lene 6 afINOTIM DODOOAY)®)d:.
3 capod aflos. (6 x3=18)

830} 06mImol 0189  AV)GHILPOIRIMB  HFAN  EHOBOW AVl BoH @3

TR NFOM BO) oHlag EATVQA.

() moen ATy @O ENSS oHlaNg EETVO)RHOBHN01 2] af) $)®). )

(i) &0y Mildeed omd aflclead 895 oHlang oeauolod aVABONG WDWUo
UOIS>. 2

80} @RSITLNOM BOaiGle@s HOANMIG HIANMIEHNHOMG CENIOGS WD(No QlDa]
@RTIOL! QY@M CERJOBNDHOBHNO 2] ANlAIClH9)D .
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21. What are the different types of optical fibers. Draw the diagram and explain.

22.  Write any three applications of satellites.

23. Draw the diagram of interlaced scanning, that uses in the television system, and explain
shortly.

24. A black and white TV receiver is called monochrome TV receiver. Draw the block
diagram of a monochrome TV receiver.

25. What is the difference between impact and non-impact printers. Give some examples of
each type.

26. What is meant by PSTN in telephone system. Explain the parts and working of PSTN
shortly.

Answer any 5 questions from 27 to 32. Each carries 4 Scores. (5x4=20)

27. A DC power supply which maintain the output voltage constant irrespective of AC
mains fluctuations or load variations is known as regulated DC power supply.

Draw the block diagram of a DC regulated power supply and explain its working.

28. What are the four types of clipping circuits. Draw the circuit diagram and input-output
waveforms of each one.

29. Draw the diagram of J-K flip-flop and explain its working.

30. Explain the bandwidth requirements for AM signal transmission with necessary
diagrams.

31. Draw the diagrams of any 4 types of network topology used in computer networking.
32. (a) Whatisa GPS system ?

(b) How many satellites are required for a GPS system ?

(¢) Explain the working of a GPS system shortly.

SY-31 6



21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

QAU®ITY ®OOHENGS 3o |FlOOTE HOANMIN)DHUB BOGINGDWIEN. DGO afl(@o
AU~ aflvodle:olBe)d:.

TLOGOBLIPIBRIOS aRO@HILNC M)A DaICWOWHO® Bdb)Ola] OlUodld@lae)D .

oselalatMBHE@3 9al1ecIullena HABBALRIVIVAL MPOTbUlon W We Alda]
@O (2 1QAUIBBDMo 21)0)06H AflQIBlED)D>.

80} MPIP @MW eealg eseilalleuad dlavlaid e@oesmIe@oo  eseilailauad
dlanflaid agMolea|siam). B0} CAOEEIMICHdo asellaflauad dladlaiclend cmioss
W0 QIO

80} goalddy (30 MM ghoald (N30} ®adlenss APV af)aTDIE.
630600 MOAENMSF (2 030)BHUBAP D)0a] DBICOVEMETBUD af)9) @)

830} oselleancem avlauarsiieel PSTN af)n@)e@:06Mme af)amoem 9e3uslanan®. 6o)
PSTN-003 @onemes &Olajle @I@IOMW  (IAUIGGDMOODD)Flallo  2l)0)H)
aflaidlaa)s.

27 a)®@3 32 Q100 G2l oaBo@BIele 5 ag)gROTIM DOMOOAYL®)d:.

4 capod afloo. (5 x 4=20)
AC 0200 cal00deselong a1 GIIMETNWIe CLIW HOMEDM  QlYTIOMOTH)o
(a1Tileoowla] qubload® &5ah)g conwdese dleimldomam DC alaid aveglow
@M 60} HoweeIgay’ DC alali@ aueg) af)indl@ea|s)ano.

830) DC 901)eeIgal a1g)@ Ueg]@)es CMIOSNGSOS all(@o aloa] @rdiloal aflallw
CONJOINHOB H)Tla)jo BRBINN (1QIBCTMEBOBH)Ga o AllVdElBHElB6)H:.

Mmoel ®eaILNEs Glaflot) AVBDHGIHUB aBO@IOGHWIEM ? MILI} GOTTENSs
Hlaflow) MVABBHRHHBOS TVABYS WD Ql02] GRGIOHMW  MBalG-BVGal)S
GQIA1EA DMV IO,

830} J-K adlai-¢agoafload al(@o 010a] @R@IOME (@1018TmMMo aflvddld:@lHe)d.

80) AM  adlunelond  (IcaMalemETIM)  calene MW aflaoslend
@RYQUUIHOOVWEN 2] @RV IMSSR 2 l(@6IBU A2 AlUdElB:G1 ).

Hoal58  OMQAIRSFoUTIMInICWIUTHNMM  aBO@BILI ML)  ®OCVIE)Ss
OMQOIBHS ¢SICa|8eAW)OS 2 l(GEBUD 10D .

(@) &30} GPS ag)amo@3 ag)amosm ?
(b)  ap@ MVOQEOLRIGIBBIEM 630) GPS Milauamim @yalv Molges® ?
(c) &0} GPS Mlquoamlond (1aIAaMEED dh)Glaf aj0)0s] allaIGlee).
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Answer any 10 questions from 1 to 12. Each carries 2 scores. (10 x 2=20)

1.  Explain the term cyclical variation in time series analysis.

2. (a) If the change in value of one variable is directly proportional to the change in
value of the other variable, the correlation between the variables are

(1) Perfect positive (i1)) Perfect negative
(ii1)) No correlation (iv) Negative

(b) Correlation coefficient between two independent variables is
i +1 (i) -1
(i) 0 (iv) 0.5

3. (a) Whenr=0, the regression lines are
(i) coincident (i) perpendicular
(ii1) parallel (iv) None of these

(b) 2x+3y-—8 =0 is the regression equation of x on y. Find the regression coefficient
of xony. a+1

4.  Identify the type of correlation between the variables listed below.
(1) Fertilizer and yield of crop
(i1)) Pressure and volume
(i11)) Height and intelligence
(iv) Length of a side and perimeter of a square @x%=2)

5.  Find the second order derivative of the function

y=x3—24x? +8x +7

6. (a) Name a control chart for attributes.

(b) Using control limit how will you identify whether a process is under control or
not ? a+1

7. (a) Binomial probability distribution is symmetric if p =

i o (i) 0.5
(ii1) less than 0.5 (iv) greater than 0.5
(b) Which distribution is known as the law of improbable events ?
(i) Binomial (i) Poisson
(ii1)) Normal (iv) Chi-square a+1
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1 2)@@8 12 190 ¢a103iElad agomslene 10 afanomilm’ 2OmOeAe®)d:.
2 capod all@o. (10 x 2=20)
80) AW GUHTIIVIOELI 210(@ @ AIYTIWIMo a)TNAT QLB AOBND.

(a) &0y aloowlond alleidlenmeod)an AY@IIMe  AOQOV) 2 lOOBIA]
alleilenmeosmam a@leomanao@]  eMA@  GRM IV OINLINMESG3

@ROBINMO 21061303 @IALNSS CBHIGICLIaHTS @RW1GlBe)0
() andem catomviglar (i)  andem emwudlal
(ii)) aneyo (iv) emwglai

(b) oee) aum@® aileldud @dlenss ALANNIMWL  !EMIBHo
@RI @Bla)0.
i +1 (i) -1
(i) 0 (iv) 0.5

(a) 1=0 af)BIo3 RO AMNE Gl(NaHUD COBIBHUD
(1)  cWiedla)) GaldB)NAI ARYWIAlHN)e
(if)  aIEAYOo LloMINIVIGIHN)0
(iil)  qVANERIWV GBI
(iv) gpale@ommag)
(b) y weomasled x mas (x on y) olWauad cosl 2x + 3y — 8 = 0 agyam’
@aIAlEM]. y @) MBS x MBS Ol(NaHB NN HOETN)D. a+m

®06¢ ®IMIAENAN 21060303 G2ALNBB TVAOENITWo aFGODAT) BHEEROII)B:.

(1)  M@BH)IMN AISON6 SN Qilgalle

(i) @d3ae AlPaimal)e

(i) WO ML)

(iv) 80} W22 I®OOTOM QOO Aflgal) 21)98010 @x'h=2)

®06¥ GATIE1HH)AM aBHBOWINZ BN BRAIGHLIM M)L1Lo (derivative) dbosm .
y=x3—24x? +8x +7

(a)  UVPFMOTAM 210630 BHIMIBNMIMBB WV OEM 21083 aG@® ?
(b) do@am «GClWl&Hes  @RSINIMAIGE  80) (Wl  dlo@mem
Qflcw@?OEEMI af)aM’ aBEBOM ANGUILI0890 ? a+1

(a) &0 eemicmIload allmosme qLAdlG (symmetric) @RANEMIOWE P WHS

aflel @R @lBN)o.
i O (i) 0.5
(iii) 0.5 @d dy0al (iv) 0.5 @3 &)5)® @3
(b)  ‘@RAVEINI®WIOS MIWAS™ af)NAIWH|SIAN TVoEIAIY® AlOEMo AB® ?
(1) eemIcMIAIVG3 (i) calo@IleavIeNd
(i11)) emoARa@3d (iv)  9od-aIdy allmasmo a+1

SY-32 3 P.T.O.



8.  From past experience it is known that a pumping machine has an average of
3 breakdowns in an year. Find the probability that there are atleast one breakdowns in

the year.
(Hint : Use Poisson Distribution)

9.  Explain the term consumer price index.

10. Match the following :

F= m follows

Yz/nz

(A) (B)
(1) | If z follows N(0, 1) then z* follows (a) | F(1,n)
(2) | If F follows F(n,, n,) then % follows (b | % (21)
(3) | Iftfollows t(n), then t? follows (c) | F(n,,n,)
(4) | If y, follows y rzll and y, follows x 1212 then | (d) | F(n,, n))

(4x%=2)

11. The weights of bottles of soft drinks in a sample of 150 are measured. The mean weight
is found to be 248.2 gm with a standard deviation of 4 gm. Calculate 95% confidence
interval for the population mean. Assume the weight of soft drinks in the bottle follows

normal distribution.

12. Explain the terms :
(a) level of significance
(b) power of a test

Answer any 10 Questions from 13 to 24. Each carries 3 scores.

13.  The following is the data for drawing a X -chart.

Sample size = 4,

Number of samples = 25

Sum of sample means, £ x = 305
Sum of sample ranges, ZR =210

Set up the control limits for X -chart.

(10 x 3 = 30)

14. (a) An estimator ‘t’ satisfy E(t) = 0, where ‘0’ is the parameter is said to be

(1) Unbiased
(ii1)) Consistent

(1) Efficient
(iv) Sufficient

(b) A sample of size 10 drawn from a population is given below :

67, 69, 65, 62, 59, 70, 68, 60, 61, 63
Obtain the moment estimate of the population mean.

SY-32
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8. 80} almilot) ®2aHlM 630) Al@aHo V0OV 3 (1I2QIUDe MGHAIGIEINNNM) af)aN M)
@PM)eaIEBEIed mlan’ AMSILI0EH00. GREBOMOVEITS @Y OAHIMB DD QIBato
B)OTND® B0} (10U IOABLIENo DHOIGILIANMMNBGIMBS TVoRIQ® agf)d® ?
()21M : Galo@lemVoeN3 All@OaMo OalCIUTIEN)B:)

9. 9alcEBH®} Aflel MV)a ld af)OADAN AUKBHDRIBND.

10.  Gal®)o alS] Gal@H9)M:

(A) (B)
(1) | z agyan@ N(0, 1) @GREMBI@ 7> af)aN@ (a) | F(1,n)

2
(2) | F agana F(n,, n,) Grysmelos % apana | 0 | X

(3) | t ag)am@ t(n) @REMEH@3 t? af)aMm@ (c) | F(n,ny
v 2 o 2
4) Yi e)P® ¥, Qo Y, af)ID® §, Do (d) | F(ny,n))
@ReeM®l@d F = m a)IM®
Y2/n2 (4 x Yy = 2)

11, 150 &)aflagled ailoafldleeam wlmsa10aleamlen @00 GREINEa|0ud AOWe 248.2
(@Yo MM ANBIWIM(SD) 4 (1A oM LIEla)). COOETINOM MW ETO 95%
CRHMMaflAMBaV alBlWl  HEMBNIIND. Maflaglenss Woa anaflooslond
@RBANHU 630) CMIBAGE ANOEMo 2 l0ENEHO[SIAMTE af)aN GRMAIWIH)D .

12. ®26¢ alo@)anal MldQ|aloe)s :
(a) aVlvmlatleamay ®elo
(b) aIGIGULDOWMWNS alaId

13 2)®@3 24 2190 a@o®&1el)o 10 ¢a103iEBURGH OMOHAY®)H. 3 ¢MHoA all®o.
(10 x 3=30)
13. 80} X -21085 AI09)IM@ICLINIW] ®IHY al0@)aM AllQIEERUd M@3Blwldleaian).
avomiled alellajo =4,
aomilu3 ag)gmpo =25,
LOM U3 BOW OO @)D, X X = 305
aLoMilUd a1GlWlIOS @), ZR =210

X -2108516003 M@6M alBlW] af)9)@)d.

14 (@  opm® 80} opavgleaglem@p 07 oM@ aldodlgolem@)o

@jaflaflomym).  E(t) = 0, op@l@d t agano apavdleaq
@RI @Bla)0.

(i) @ReMMIOITVW (i)  agoatlauyad

(iii)  @emdaviauad’ (iv) avadlauyad

(b) &0) acyliad mlame aloaaums)erm 10 ALomilg)dhud a AIeS GalBHe)an) :
67, 69, 65, 62, 59, 70, 68, 60, 61, 63
TL2HIW)OS BOWITTNO HROAAT af)TUICAY Bh6e18)a 1S106)). 1+2)
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15. A population consists of 5 units. Samples of size 2 are taken by SRSWOR method.

(a)
(b)

16. (a)

(b)

Sum of sample means, X x = 140, find the mean of sample means.

If population variance is 2, find standard error of sample mean. 1+2)

The probability that a normal variable X lies in the interval (un — 30, u + 30) is
approximately

(i) 0.68 (i) 0.95
(i) 0.99 (iv) 1

—(x-80)2
e M —oo<x<ow

The pdf of a normal random variable is given by f(x) =

1
12427
(1)  What is the mean of the distribution ?

(i1) What is the variance of the distribution ?

(iii) Find P(X > 80). (1+2)

17. If a normal random variable X has a mean 75 and variance 2. With P(X < 90) = 0.8315.
Find the standard deviation of X.

18. (a)

(b)

The cumulative distribution function of a random variable X is
(1) PX<x) (i) P(X=x)
(i) P(0O<X<1) (iv) P(X<0.5)

Let X be a continuous random variable with pdf
flx) =3x3,0<x< 1
=0, else where

Find cumulative distribution function of X. 1+2)

19. The pmf of a discrete random variable X is given below :

2 3 6
20 20 20
(a) Obtain the mean of X.
(b) Calculate variance of X. 1+2)

SY-32



15. &0) qvacydldlad 5 alleidgne. oaladmlane alefllaje 2 GR@ 60) avomildd

SRSWOR GG @@3 ag)s)eenan).
(a) avomilud eowiEmleHd @», LxX = 140 af)@rl@d avomilud aowiomlend aowye
BN ANIBN) .

(b)  auacgloes coldl®May 2 af)@l@d avomilud MOWITIIOE AOMB> aflvody
(standard error) 6061mM). 1+2)

16. (a) X oM al0o B0) eMIBA@ Al®OeMo aldellamam) apeslad X o allel
(L —30, L+ 30) af)IM NSECAUSVI@ AUIGIMBS TVoERIAIYD) af)a®) ?
(i) 0.68 (i) 0.95
(i) 0.99 (iv) 1
(b) &0} ecmidadd almosmomland pdf ®oey marldlaean)

1 —(x-80)2
e B | —oo<xy<ow

f(x) =
&) 1227

() oY all®EIMETIOG MW af)®?
(i) v all®esmadlend caIBlmaV af)am ?
(111) P(X> 80) @o6emd» 1+2)
17. X a)m al@o @0WH 75 9o caIGMAV 67 9o @B® 60) ¢MIAA@ al®osmo
atoefloeam). P(X < 90) = 0.8315 agyam) @amlalaenam). X agam aloomlond auoad-

caBw AWSlaNE@aHB @M BN

18. (a) &0 @20adl® aloeden e il® aVoedaly® allmosmo (F(x))

@R Bla9)o.
(1) PX<x) (i) P(X=x)
(i) P(O<X<) (iv) P(X<0.5)
(b)) X apyam @58 B20adl® alo@dilend (continuous random variable) pdf @oey
@anlalee)mm).

flx) =3x3,0<x<1
=0, mog%omﬂsmgo
Xeag avea o avoedali® allmoemo (F(x)) &oem)d. 1+2)

19. 80 caIdlg (H2a0a0l® aloomleng (discrete random variable) pmf @oey @anldlas)am;.

X 2 3 6
5 6 9
20 | 20 | 20
(@) X a2loomled 20Wo HIEMd.

P(X)

(b) Xaloomlond caIGlBIY @06, 1+2)
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20.

21.

22.

23.

24.

(a) Inan ANOVA, the total number of observations is 20 and number of treatments is
4. Then error degrees of freedom =

@H 5 (i) 16

(i) 19 (iv) 3
(b) Explain the terms assignable causes of variation and chance causes of variation in
analysis of variance. 1+2)

In an agricultural experiment to compare 4 different fertilizers, each fertilizer was
applied to 4 plots each. The data on the yield of crops are summarised as follows :

Grand total, G =212 tonne
Sum of squares of all observations = 4218
Sum of squares between groups = 3848
With this information, draw a complete ANOVA table.

(a) j xis dx = .
(i) —Sx%+c (i) Sx*+c
(iii) —Sx“*+c (iv) —6x°%+c
(b) If the marginal cost of a production unit is 3x% — 5x + 7, where ‘x’ is the number
of output units. Find the total cost function. 1+2)

Analysis on the scores of 20 students in theory (X) and practical paper (Y) in statistics
gives the following information :

Mean | S.D.
Theory (X) 40 5.7
Practical (Y) 35 2.5

The correlation coefficient between the marks in two papers is r = 0.62. Estimate the
score of a student in theory whose practical score is 39.

(a) If the correlation coefficient between two variables X and Y is 0.48, the
correlation coefficient between X and 2Y is

(1) 0.24 (i) 0.96
(iii)) 0.48 (iv) 0

(b) The ranks given by two judges to 7 students in a painting competition are given
below. Find the rank correlation coefficient.

Judgel: |3 |5 |17 ]2]4]6
Judge2: | 2 |3 |1 ]6|4|7]5

SY-32 8



20.

21.

22.

23.

24.

(@) 80) GREMIAIVIGE @YD TIBlaHIM  ATVIVOBOS af)gmo 20 9o (Sle}
ODMB)BHB)OS af)glPo 4 Vo BRYWOB af)OGING MV ®OAOMo (error degrees of

freedom) @@l B9)o.
i 5 (i) 16
(ii)) 19 (iv) 3
(b) @moelavlay 80an” caislemmilan! Mlwem &0osmeyd (assignable causes)
WIRBLafld 3006mMeUd (chance causes) ag)aml alBemBUd Al VdElG:ElH6)M:. 1+2

DHOBaHld oOEM 4 AI®ITY AUBEBBOS TILIA0 IR HalQANG@IMOV]
@Al BOCEIMM)e 4 AN CaloYBHSEIBB (a1cOUla)), SISV allalEeEBUd 21)aIes
GOl Ao fl@leeam;.

alle1d8)0s Gred @) G =212 send

afleldg)es QIRPBSIOS ARYOD: @)d> = 4218

)ajio0d @olenss allelegins aldneamsins @)d = 3848
0 QflQIEEBU3 Dale@IUlla] GREMOAI alSld: al)BaNA0Ne)D.

(a) J-is dx a3 aflel erEldles).

X
(i) -Sx®+c () Sx4+c
(iii) —Sx“*+c (iv) —6x°%+c

(b)  &0) Mldom06M cHMBOIOG B0BHM@3 HalLIal aBdhBo 3x2 — 5x + 7 @oyem X’
af)IN® DG lMEBZOS af)FNOCT H)O1SH)IN). HAOTD HalLlal aBdhBo (total
cost function) &6ne)aflSlen)d. 1+2)

20 oslerdes  quoglaudlamilend  a)9)om)  aldlomalele (X))  (a10e@ole
aldlamaiel) (Y) el€la] cnpoo)da)es 630} allaiosmoe @Ie¥ d:0S)e1aialH9am).

@OWYo | BOME AY@IWIMo
(S.D.)
)9O} aldla 40 5.7
(10O B al@la 35 2.5

g0 aflaleeBWd Palc@IUfla] (106IUTD aldlaH® 39 cmIA eIEla] 30) H)GIWOS
) )0} alBlSHUWOS CTPIB HEMBNOLN) .

(@) X, Y ag)aril 0ene 21060303 @anilenss eoG1eRIaHa 1)eMIghe 0.48 @ReEMEIE3
X, 2Y )07l 2106803 @alenss  Gaho0lGRlaHM  1)eMOhe

@RI @Bla)0.
(1 024 (i) 0.96
(iii) 0.48 (iv) 0

(b) &0 @ ©2am0 acrveoeIM 2  AlleAEmMIGHUd T ®)GlSUBES
OBHIS) OGN  00BHBHUWB @O HBHIS)OHIBIBNAN). 008 CBHIGIGEIAHS
N)IMOBH0 DH6eNR)a f1SIHe)d>.

Judgel: | 3 | 5|1 | 7|2

Judge2: | 2 | 3 |1
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Answer any 2 Questions from 25 to 27. Each carries 5 scores. 2x5=10)

25. Calculate the following index numbers using the data given below :

(2)
(b)
(©)

Laspeyer’s Index Number
Paasches Index Number
Fisher’s Index Number
Price Quantity
Commodities
2010 | 2018 | 2010 | 2018
A 65 80 5 4
B 72 90 3 3
C 58 68 2 4
D 40 57 3 2

26. The following data relate to price of a commodity from 2014 to 2018 :

Year | 2014 | 2015 | 2016 | 2017 | 2018

Price | 450 465 518 520 537

(2)
(b)

27. (a)

(b)

SY-32

Fit a straight line trend to the above data.
Estimate the price for the year 2020. 4+1)

Which test is used to check the independence of attributes ?

(1) Z-test (i) t-test

(ii1)) Chi-square test (iv) F-test

100 students having behavioural problem were selected from a school and a
transformation programme was conducted for 60 among them. All the 100
students were observed for a month and the data are summarised as follows.

Check whether there is any association between transformation programme and
Behavioural change at 95% confidence level.

: Behaviour
S o Total
*é E Changed | Not changed
=8 Attended 40 20 60
= 50
Z ©
E; £ | Not attended 10 30 40
Total 50 50 100 1+4)

10



25 2)®@3 27 190 ¢2103BE108 ago®mslene 2 af)aNOTIM QOMOo af) P3®)d>.

25.
(a)

2I0MJlePIV VYo >
(b)  al0&H AV)ailds
() afleaHaV qValld

®6® ANIAlENMN Alleldhud OalcIRa] HAI HEMBNIBND :

(2 x5=10)

ailel G@Rsal
LOWMEIBUD
2010 | 2018 | 2010 | 2018
A 65 80 5 4
B 72 90 3 3
C 58 68 2 4
D 40 57 3 2
26. &®0) vowmomlend 2014 aymad 2018 aleow)ss doei@zaieel allel mlelalnee
®06% @aVIAlee)aN).
ABako | 2014 | 2015 | 2016 | 2017 | 2018
ailel 450 | 465 | 518 | 520 | 537

(2)
(b)

27. (a)

(b)

SY-32

D™ Qfleldud 9alcIUila] B0} S eerIad M@k w:.
2020 @3 gnm m)owm«sroﬂs)c@ aflel af)(@@OAN BHEMENAND>.

“4+1)

MM aflcroaHeBsNs MEOUHIVMIo HEONBEAMMDIMIV]  DalcWOUTlB9)AM
al@lICUIWM aR® ?

(1)

Z-a1@lcuoWwm

(i) ©e?-QIBY alBlEUIWM
0al0)20q (IReEnEes 100 3)G5laeg 680} qEled mlanp  GleeeamS)oIy
@AIC@ 60 caldos 60) alBlaIREM® aldlaldsl avoteislaflesman). e 100
3G BHOB BRS)TMHAITVo aloMAlEWWRIBS] @R@IG3 MIaN)e LIEla allaioaByd
@96 OBHISYTTIBNAN).

(i)

t-al@lcUIWmM

(iv) F-ai@levoowm

al0)A0Qo @D
AY®LPaVeAIS) | AlY®IPaVealsIel | )N
aI10laIRGIHM lO®:S)0m) 40 20 60
al0lal0s]
alo®s)omle] 10 30 40
@ARYOD af)aNo 50 50 100
DIGIHBOS  HalO)R0QOWILNSS  AUY®PIVANe  alFlAIBTDM  aldlaloSlw)

©®e21ERss nITwo 95% edeMatlawaday ©e1aIel@d al@lcuddwl o).

11
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Answer all questions from 1 to 11. Each carries 1 score. (11x1=11)
1.  Thematic Apperception Test (TAT) was developed by

(a) Morgan and Murray (b) Herman Rorschach

(c) Rosenzweig (d) Hathaway

2. Adler’s theory is also known as
(a) Analytical Psychology (b) Individual Psychology
(c) Humanistic Psychology (d) Behavioural Psychology

3. The statistical Technique, factor Analysis in personality research was introduced by
(a) H.J. Eysenck (b) Gordan Allport

(c) Raymond Cattell (d) Sigmund Freud

4.  The concept of Hardiness was proposed by

(a) Hans Selye (b) Slobasa
(c) Lazarus (d) Jacobson
5. Token Economy is a therapy technique.
(a) Cognitive Therapy (b) Existential Therapy
(c) Behaviour Therapy (d) Psycho dynamic Therapy

6. In rehabilitation, the patients are given, vocational therapy, occupational therapy and
(a) Social skills training (b) Relaxation training

(c) Yoga training (d) Physical training

7.  Two-step concept of attitude change was proposed by
(a) Leon Festinger (b) S.M. Mohsin
(c) Fritz Heider (d) J.P.Das

8. A collection of people who have assembled for a special purpose is called
(a) Crowd (b) Audience
(c) In group (d) Out group

SY-33 2



1 2)®@3 11 0160 ¢a108IBUW3AN ] DOMOo af) }®)d. 1 caIAd afl®o. (11 x1=11)
@S 20¢l 98 @A @6V IaHB HSTY @Y alldbala |62]S)010)®).
(a) ©@BLM — MO (b) ©a0BNB CGOOAHIBS

(¢) cooavadaflyy (d) a00E™O6OI

@RAWEeIGled MIRLIMBBTNOIF AHQIO) Cal@IEM.
(a)  @Pmelgleadd sarvesnosed (b)  epaBaslailzynlcd HeTLEHNIS]

(©)  20)@MIaYles 66TVEHNISE] (d) enfleaonll@o@d HeTLEHNIS

oeism  oflodeiMo )M  ALOGINVAVIO@  OSHMIBY @GRV  AlyBBI®)
NEAUAHIMDTHIE3 OBIMN)AUMND.

(a) H.J.eagoves, (b) ewoBaLMd @RYUBCAIIRS
()  ©OWMME HEYEB (d) alvaemdw enpnoxila

‘a00@UIMAY’ af)aM @IRYUOWo MEANISF) Al |G,
(a) a00mav eaveil (b) emoemIoaLo

(¢) enavoav (d) c=oomicvend

CS09M ENANEHMIA] af)aM O]l HSBHTI B ag)ANlOSWIEN (1 1EOUlBNIN®).
(@)  caounmldlalo®ooafl ()  afHMITVOHQMBaH@ H@0a ]

(¢) nilcanall@omd d®0dall (d)  eeaVEENIOOWMABS @00l

allMOUWIAUIVEIH@S, CEIUIBUWBAS  ECAIICHNAHEMDI Q@oo%ﬂ, @mg@%(ﬂamaﬁ

O®00a]l, aflloam ag)amlal MEeid)an).
(@)  erLIauy3 MI@3 ESVITTlouy (b) OlRIGEINVHB OSVIMlowy
() cIN OEWIMlowy (d) adlavlesndsd eslmlowy

AEMOEIQI QO] BlPRISH: @YW MEANIFAa|@

(@) elecwims eanqdlond (b) S.M. e@0c0miad
(©)  OQIY Oa0WwAd (d) J.P.moav

ABOMBIEN0 (AICM D DGRUDIBATNISIB)S] AUBDIIGUd B0)22|)d3)SIAMNDIOM af)Tm)
allglaman).

(a) @ow (b) sowWlBaY

(c)  @BW)a] (d) &vgW)af

SY-33 3 P.T.O.



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

The process whereby our attitudes and behaviours are influenced by the real or imagined

presence of other people.
(a) Social Loafing (b) Cohesiveness
(c) Bandwagon effect (d) Social influence

The messages that people exchange besides words are known as

The two major approaches to observation are Naturalistic observation and

(a) General observation (b) Participant observation
(c) Specific observation (d) Field observation
Answer any 4 questions from 12 to 16. Each carries 2 scores. 4x2=38)

If Raju’s Mental Age (MA) is 20 and his chronological (CA) is 20. Find out his
Intelligence Quotient (IQ).

Define Intelligence. Name the two prominent approaches in the study of Intelligence.

List out any two Limitations of observation and Interview methods.

Write a brief note on pro-social behaviour.

Name any four pro-environmental behaviours

Answer any 3 questions from 17 to 20. Each carries 3 scores. Bx3=9)

List out and briefly explain any three assessment methods used in Psychology.

Write short note on Projective tests. Name any three Projective tests.

What are the different strategies for handling prejudice ? Write any three.

In order to understand Psychological disorders, we need to begin by classifying them.
What are the advantages of classification ? Explain the two major classifications of
Psychological disorders.

SY-33 4



9. 2QIERAIOPS TVIBLIlGHAOVWEDO  @RELIBIT QANIVAICHIT DBREEO  GYW
aLodilalio HBEE MIMOS AECMIERIAIGITIEN0, QA1YAIOIOBTILNS QAIRYIN AIQAHIOHM
af)a aflgleeymm) ?

(a) VoAU M3 CeIdablow) (b)  edoeaomilaivmay
(c)  eNIDABAW QW AN (d)  eIVOAH@3 NMBaNSB)AIMBIV’

10.  Qe9)BeaGlmnow afllaioanud alyeole:d a0 dalew ailgles)am

v

Cal@.

11, mldlesemasiland oame) (I1wom quailaimMeud Mmoaj0eladles alldlesemal
(a) =M@ MdlaHemMal)e (b)  a108glrleNn |08 mdlexuemal
(c)  maialadles Midlamemalo (d)  adl@dw midleemans

12 2)®@3 16 Q1900 62103418 oa@o®slel)e 4 af)INOTIM 2OMA af)}®)d:.
2 capod afloo. (4x2=8)

12. cooagoﬂs)c@ 20MM®  (@10@o  (MA)  DOQI®), WGIGlS  (@10@o  (CA).
D00 I®)20606ME1E3 @RAIOM (IQ) BHeNB)a lSlee)d:.

13.  enpeul NADNOHWANIOLITD) ? MBI 166)B>. ennaul aDIOWa|dl
alCl89)QI0M)aICROUIBNAM Q6NE) (1 IWIM TUAlAIMEIBBIOS GalHOYIM)E:.

14.  enadgadainailede, MAlauaMOTIOHMWI0 OME) CaloOIVDBHUD af)9)®)d.
15, ¢(@10eaoau @3 QIJala000@dIleMa gl 630} 21021} AllaIoeMoe QYIOEN ).
16. agomsrlel moel alddlrudl@ila: GrMIGIE! A1YAIa00063UD af) LI®))d:.

17 2)®@8 20 2160 ¢21035mSG8 a@o@sILlo 3 af)IROTNIM DBMVo af)}®)d>. 3
¢apod afloo. B3x3=9)

17. am3000@UOdl@d  2alc@IUllan)m ago@®lel) man afleidlo)em@d  loileud
a)S}OTNR)I] 21)0)B QfluoEloB106)0.

18.  e@zeglal aldleu®esa9)0la] 80) c1ee)ailalosmMe GQI0ISND. BOGBI.
QENE O IORHFIOT aIGlHUDHBIOS CalOO)D)H.

19. 2)1B allWl®e8 6633000 aIQAIIMSBS aBO@ELIEN0 MAN @(MNBBOSLL®)D.

20. 2EMOCEINEBOSHMOa] aMEPL1009)01003 Mo @RAIOHW @RYBYo
AIlddlcapmemme.  AdlHEaMATINNG EMITBOST ? ACMICOINDIBBOS
(1WOMealg ©ame AIdYldememud ailuodld@lae)d.
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21.

22.

23.

24.

25.

26.

27.

28.

29.

Answer any 5 questions from 21 to 26. Each carries 4 scores. (5x4=20)

There are different stress management techniques. Explain any four stress

management techniques.

Briefly explain any four behaviour therapy techniques.

What are the different factors that influence attitude formation ?

People join groups for many reasons. Point out and explain any four reasons for
people joining in groups.

List out and explain any four actions for promoting Pro-environmental Behaviour.

Explain any four qualities of an effective counsellor.

Answer any 2 questions from 27 to 29. Each carries 6 scores. 2x6=12)

Intelligence is not a single entity; rather distinct types of intelligences exist. Support
this statement with an adequate intelligence theory.

Explain the different types of behavioural and developmental disorders.

List out and explain any six conflict resolution strategies.
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